Slope and Equations of Lines
Find the slope and y – intercept of each line.

1)
6x + 2y = 4




4)
7x – 13y = 4

2)
4x – 3y = 3




5)
y =  –5 

3)
5x + 5y = 2




6)
x = 4 

Find the slope of the lines through the given pairs of points.
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Write equations for each of the described lines.

11)
The horizontal line through 
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.
12)
The vertical line through 
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13)
The line with slope 
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  that passes through the point 
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14)
The line with slope 
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15)
The line with slope 4  that passes through the point
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16)
The line with x – intercept  5  and y – intercept  1.

17)
The line with slope 
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  that passes through the point
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18)
The line with slope 
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  that passes through the point 
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19)
The line with slope 
[image: image20.wmf]5

7

  that passes through the point 
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20)
The line that passes through the points 
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21)
The line that passes through the points 
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22)
The line that passes through the point 
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 and is parallel to 
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23)
The line that passes through the point 
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 and is perpendicular to 
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24)
The line that passes through the point 
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 and is perpendicular to 
[image: image31.wmf]7134

xy

-=

 .
_1255494595.unknown

_1255494852.unknown

_1255494933.unknown

_1255495013.unknown

_1255495063.unknown

_1255495073.unknown

_1255495208.unknown

_1255495109.unknown

_1255495072.unknown

_1255495041.unknown

_1255494980.unknown

_1255494989.unknown

_1255494967.unknown

_1255494902.unknown

_1255494907.unknown

_1255494881.unknown

_1255494694.unknown

_1255494741.unknown

_1255494826.unknown

_1255494707.unknown

_1255494640.unknown

_1255494663.unknown

_1255494601.unknown

_1255494426.unknown

_1255494476.unknown

_1255494494.unknown

_1255494447.unknown

_1255494459.unknown

_1255494353.unknown

_1255494408.unknown

_1255494338.unknown

